Strategies for Mathematics

DIST

To help me use the Distributive Property.

Does one side of the equals sign include parentheses?

» Left side or right side of equals sign has parentheses

53+4) = 5x3+5x4

parentheses on left side

5x3+5x4 = 53+4)

T

parentheses on right side

Identify that the other side has more numbers and no parentheses.

53+4) = 5x3+5x4

) -

Right Side Left Side
Three numbers Four numbers
Parentheses No parentheses

See the “double number.”

* Number outside parentheses will be written twice on other side.

monce”

53+4) =5x3+5x4

“twice”



Total is the same.

* Both sides equal the same total.

53+4) = 5x3+5x4
5x7 15 + 20
35 = 35
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